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Income Tax Law and Practice

Maximum Marks : 85
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Attempt all questions. Distribution of marks is given against each Question.

Word limit for each Answer is 250-300 words.

iz'u 1- vk;dj ds fy, djnkrkvksa dk fuokl&LFkku fdl izdkj fu/kkZfjr fd;k tkrk   ¼17½
gSA fuokl&LFkku dk dj nkf;Ro ij Hkkj le>kb,A
How is residence of assessees determined for income tax purposes? Explain the

incidence of residence on tax liability.

iz'u 2- feLVj ^v* dks 18000 #- izfrekg osru rFkk osru dk 10 izfr'kr e¡gxkbZ    ¼17½
HkÙkk fey jgk gSA mls 8000 #- izfr o"kZ euksjatu HkÙkk fey jgk gSA 31 ekpZ 2020
dks lekIr gksus okysxr o"kZ esa mls rhu ekg ds osru ds cjkcj cksul feykA mls ,d
dLcs ¼ftldh tula[;k pkj yk[k ls de gS½ esa fdjk;s ls eqDr ,d vlqlfTtr jgus
dk edku Hkh feyk gqvk gS ftldk mfpr fdjk;k 5000 #- izfrekg gSA ^osru* 'kh"kZd
esa vk; dh x.kuk dhft,A
Mr. 'A' gets Rs. 18000 per month as salary and dearness allowance at 10% of the

salary. He is getting entertainment allowance of Rs. 8000. per annum. During the

previous year ended 31st March 2020, he received a bonus of three month's

salary. He is also provided with a rent free house unfurnished in a town [Whose

population is less than four lakh] whose fair rent is Rs. 5000 per month. Find out

his income under the head salaries.

iz'u 3- O;kikj dh vk; dh x.kuk djus esa vk;dj vf/k- 1961 ds varxZr Li"Vr%      ¼17½
Lohd̀r dVkSfr;ksa dks le>kb,A
Explain clearly the deductions that are expressly allowed in computing the income-

from business under the Indian Income Tax Act. 1961.

iz'u 4- dqy vk; dh x.kuk djus esa gkfu;ksa dh iwfrZ laca/kh izko/kkuksa dks le>kb,A

Explain the provisions regarding set off of losses while computing the total income.

iz'u 5-  os Hkqxrku dkSu ls gSa ftuls mn~xe LFkku ij dj dkVk tkuk gS\     ¼17½

What are the payments on which tax is deducted at source?

•••


